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>>> df.select (lambda x: not x%5) EEIEETTER = 7-Merge
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>>> df3= df2.pivot (index='Date', BT R >>> s.where(s > 0) EETE data2, 2 |l11.432/ 20784
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2016-03-02|| b || 13.031 Date >>> df.set_index ('Country') BE=I| gz‘ii%;ight‘ a_ ||11.432][20.784
2016-03-01 || ¢ || 20.784 _ |2016-03-01 || 11.432|| NaN |[20.784 >>> df4 = df.reset index() BUHZS| on="¥X1") 4 b 1.303 || NaN
> >>> df = df.rename (index=str o I
2016-03-03 || a_|] 99.906 2016-03-02 | 1.303 I 13.031 || Nan (columns= Countey™:mentey™, Eep&DataFrame’!|& d_ || NaN [|20.784
_03- "Capital™:"cptl",
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2016-03-03 || ¢ |[ 20784 dataz,
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>>> df6 = pd.DataFrame (np.random.rand(3, 2), index=index)
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>>> df4.groupby (level=0) .transform(customSum)
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>>> df.dropna () ErgTrsENaN - v G T 5 5 <
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p>> df.iterrows () (T%51, F5) s#MEs >>> df2.replace ("a", "f") A—NMEERS—ME Learn Python for Data Science Interactively
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